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,\IJK surveyor recorded the measurements of a field book using xy=400m as the base line as

shown below
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a) Useascale of 1 cm to represent 50 m to draw the map of the field. (5 Mks)

b) Find the area of the field in hectares

e e

(5 Mks) f \
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[/l /19. (a). On the grid provided, draw the square whose vertices are A(6,-2) B(7,-2) C(7,-1) and
D(6,-1). = (2mrks)

b. On the same grid draw;
(). A°’B’C’D’, the image of ABCD under an enlargement scale factor 3centre (9,-4).
(4mrks) ;
(if). A”B”C”D”, the image of A’B’C’D’ under a rotation of +90° about (0,0). (4 mrks)

20. A pail is in the shape of a container frustrum with base radius 6cm and top radius 8cm. The
slant height of the pail is 30cm as shown below. The pail is full of water.

a.

@/

Calculate the volume of water in the pail.
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b. All the water is poured into a cylindrical container of circular radius 7cm, if the cylinder
has the height of 35cm, calculate the height of the cylinder above the water level, which

is not in contact with water.
(4mks)
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21. The sides of a triangular plot of land are 170m, 190m and 210m, but the altitudes of the plot

as well as the angles are not known. Find
a) The area of the plot in Hectares Smks
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b) The angles of the plot 5mks
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THE END. (EOOD LUCK..
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SECTION II (50 MARKS)

ANSWER ALL QUSTIONS

17. An amount of money was shared among five girls, Alice, Jane, Brenda, Mary and Ivy. Alice
got % of the total amount while Jane got g of the remainder. The remaining amount was

shared equally among Brenda, Mary and Ivy each getting ksh.490.
a. How much did Jane get? (3mks)
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b. How much was shared among the three girls. ' (3mks)
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c. Alice, Jane and Ivy invested their money and earned a profit of ksh.3640. a half of the
profit was left to maintain the business and the rest shared according to their

investmegts. Calculate how much each got. (4mks)
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